HT%E'J&%’;&&UAD k26512 A1 ABE
g} i S PN A 3 Z

= B 1 :: ] 158,038 363,735 171,358 192,377
5 5 4 A 1,447 2,862 1,284 1,578
[Sfrith X 5,986 13,152 6,250 6,902
JH 25 K HT 36 70 32 38
8 _E BT 51 105 46 59
A3 H R AT 27 51 30 21
Jt 3 HERHET 19 40 19 21
JIAGRET 103 188 86 102
5 /NERHET 102 189 82 107
cp fiE) P4 BT 40 76 30 46
B £ HT 94 163 73 90
B A 7K HT 108 223 103 120
i =] HT 227 517 234 283
FHHE 78 166 77 89
JI|_ERT 658 1,334 614 720
Ed ) 140 248 119 129
Jt 1N P T 35 96 43 53
S IEZRHET 59 119 48 71
e =Ead:l 39 93 49 44
7}<FEJIHT 67 156 68 88
E == e T 20 39 19 20
%% < ET 612 1,242 633 609
ZRIRHET 330 678 327 351
HFW—TH 306 707 351 356
FIWLW=TH 159 415 202 213
FW=TH 268 573 270 303
FWETH 146 407 202 205
SWWETH 152 402 189 213
FSRTH 213 497 220 277
SWETH 337 759 357 402
FW/NTHE 315 738 344 394
ERE—TH 17 50 28 22
EBRE=ZTH 485 1,221 589 632
ERE=TH 314 720 329 391
R EFET 429 870 437 433
[REH#IX] 6,217 13,686 6,419 7,267
e 1= e mT 24 57 23 34
REyEFHT 17 41 19 22
ch e ET 29 58 29 29
ae HT 59 143 59 84
NN T 23 58 25 33
f& 2 FlT 40 101 46 55
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T £ HHF A a 5 =

& 5 A T 19 39 18 21
~+ B F5E BT 25 60 28 32
JIl 2 £ 3SR T 39 97 41 56
Il 2 _ER/T 22 40 22 18
Fith 2 NHT 56 113 43 70
il 5T T 29 52 22 30
HEEmE AT 41 76 33 43
EE/PHHET 24 62 26 36
& 23R HT 11 20 8 12
ho 3F BT 1,011 2,186 1,001 1,185
Pik il 95 194 95 99
= H BT 1,428 3,267 1,549 1,718
=R 610 1,395 667 728
HAicFEI—TH 366 789 364 425
RicFEIZTH 156 296 134 162
RicFET=TH 369 654 289 365
mieFH—TH 163 355 167 188
i =TH 451 1,074 525 549
BT =TH 463 1,088 519 569
AL FHETH 282 668 317 351
B FETATH 365 703 350 353
[(FE#hX] 8,634 18,369 8,737 9,632
ch ¥h = T 31 64 27 37
< T EHT 14 39 17 22
o B SF HT 45 100 45 55
FH_EHT 28 76 39 37
dhat HT 270 645 308 337
R AT 469 1,020 506 514
fgh P BT 30 60 26 34
= {EFH AT 39 86 37 49
fZ 5 ET 24 47 28 19
F5$T EHT 34 87 41 46
B AR HT 109 196 94 102
ne JI| BT 33 74 33 41
1E EIET 19 47 22 25
REH 142 221 109 112
b AR ET 121 238 114 124
A IR AR HT 649 1,433 678 755
IR A& dth 75 S (R BT 98 242 117 125
R A& Hh 75 PRI BT 21 46 18 28
FA kP HT 97 187 86 101
A Fh T 8 19 9 10
FA T 83 151 73 78
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T HHF A A 5 =
A& = T 27 42 19 23
/N ERRT 20 49 23 26
A T HT 72 126 53 73
HNET 34 41 21 20
RFxHET 713 1,632 805 827
RFxFEHET 368 773 359 414
Lt Sunl:i] ] 1,286 2,731 1,276 1,455
EalcNEL 108 201 93 108
il 568 1,076 486 590
Fa T iR ET 194 453 235 218
¥ KHT 568 1,016 487 529
FAREET—TH 698 1,606 746 860
BREET=TH 193 397 209 188
AREEI=TH 286 641 285 356
AREEETH 505 1,088 529 559
AREEATH 204 527 246 281
FARIRETARTH 35 66 32 34
AR+t TH 391 826 406 420
[#EFHHX] 1,205 2,368 1,027 1,341
B 3F #RHT 40 73 29 44
75 3 FRHET 42 74 34 40
4 fE P ET 42 93 42 51
A 2 BT 7 18 6 12
A i T 47 92 37 55
JC PR R5E T 22 39 14 25
¥EAHT 21 54 28 26
¥& FHT 6 15 9 6
Bt B i T 72 149 67 82
¢ BAR5E T 11 31 15 16
T EI P ET 35 68 33 35
i Fa B BT 39 72 29 43
Jt Z= M7 41 94 42 52
Bl =7 5 BT 8 19 10 9
Bk T 93 167 68 99
¥ FHHET 60 131 59 72
A iR ET 44 68 26 42
AR E T 89 187 81 106
L =50 19 50 21 29
B F<rHET 55 80 33 47
FHT 47 79 31 48
Jt [ BT 23 58 31 27
AF=rHT 11 30 15 15
/NI BT 24 51 24 27
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P35k ET 31 63 29 34
JtJEl = HT 23 52 25 27
5 35 HT 1 1 1
B [T 19 35 12 23
B [m] R ET 11 29 14 15
75 {1 5 BT 4 6 3 3
/NFRHET 57 95 28 67
RNERET 42 73 32 41
= X HET 32 51 18 33
;£ [E HT 40 82 37 45
& KERHET 47 89 45 44
CREIEY 7,844 16,636 7,644 8,992
op 5 T 33 75 35 40
B [ L ET 34 57 26 31
RE AT 24 42 15 27
REZLIZEIRET 61 129 51 78
th R BT 39 75 34 41
162 HT 48 88 30 58
1& P BT 11 25 9 16
#a = M7 45 77 35 42
X HZEHRET 12 29 14 15
Jt /) ERET 59 86 26 60
a3 H FA AT 47 71 30 41
a3 H h AT 33 61 32 29
Jt 3 HFa ] 32 60 24 36
Jt 3 H A ET 33 66 27 39
= FHEHET 134 144 6 138
FR/INERET 12 18 5 13
e 29 64 30 34
B ERE 12 21 11 10
= X 1 T 90 173 80 93
75 £ 54 HT 226 423 204 219
J6 )11 um BT 51 110 51 59
| i) 117 242 96 146
75 2 K BT 94 194 82 112
% P HT 69 128 52 76
B 3 = BT 48 92 42 50
B2 T 22 42 17 25
FAETE R S FlT 13 23 12 11
T TE R ET 73 193 94 99
(= Rl 19 40 15 25
AR HET 86 151 69 82
pilaalii) 2 4 2 2
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i) #2|1 A A 5 S
A ¥E ET 56 104 51 53
JE i T 242 519 248 271
REEFHET 1,872 4173 2,038 2,135
EEERLU—TH 106 269 119 150
EEERUZ=TH 15 26 10 16
EEERLUMNTE 2 6 2 4
pre Al 3,739 8,030 3,687 4343
=RHE 172 440 207 233
= H B ET 32 66 26 40
[(XE#X] 10,692 21,652 10,063 11,589
= KHEHT 652 1,373 649 724
= EXKHET 574 1,278 588 690
=% )I| FHHET 149 315 143 172
=501 653 1,301 605 696
T =5HT 87 199 104 95
St FHT 55 117 52 65
78 2 BR T 85 123 49 74
sH B th 75 BT 4 9 6 3
S B BT 217 366 173 193
= & KHET 788 1518 671 847
= =801 258 531 232 299
=& 432 896 436 460
=& KX=H] 386 810 380 430
K=E—TH 646 1,266 577 689
AEBRZTH 1,133 2,515 1,155 1,360
RKER=TH 873 1,673 822 851
KXERMUTH 1,051 2,246 1,039 1,207
RKEBRATH 59 107 51 56
RK=HEI/RTH 209 337 155 182
KEBETH 158 312 141 171
] 282 546 251 295
e itB—TH 225 464 225 239
B —TH 473 961 449 512
2B =TH 634 1,223 587 636
2B TH 609 1,166 523 643
[(XZFHX] 4,886 11,545 5,521 6,024
KL FH 124 388 203 185
ZNE—TEH 383 960 463 497
TNE_TEH 331 777 376 401
TRNDE=TH 400 939 433 506
D FERHAT 113 281 143 138
PN 333 754 356 398
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T HHF A a 5 =

R AET 402 1,049 488 561
J\EHT 46 122 56 66
INE&—TH 177 390 182 208
J\&_TBH 2 7 3 4
J\E=TBH 22 42 25 17
JNERTH 130 259 132 127
RELEFH—TH 121 341 158 183
KEFH=TH 135 376 184 192
K&EF—TH 268 551 256 295
AX&ZF_-TH 280 715 323 392
KEF=TH 371 833 408 425
KEZFMUTH 238 599 283 316
KEFRTH 323 713 348 365
RELEF/NTH 362 763 373 390
X&EFETH 325 686 328 358
[ &R B ith X ) 13,664 31,964 15,284 16,680
EE&—TH 168 364 152 212
FE-TH 278 596 272 324
FE&=TH 294 711 339 372
et JL BT 205 431 204 227
fExt AT 224 481 234 247
JExt FgHT 131 276 141 135
fExt AT 51 171 94 77
JExt FRHET 81 160 72 88
& FE ET 37 106 50 56
Jt FTET 13 28 13 15
A T HT 55 175 90 85
& 2T 947 2,155 1,032 1,123
RFERB—TH 362 906 444 462
REB_TH 222 488 223 265
FKHT 199 492 234 258
RIS HT 140 371 174 197
FEMHE—TH 463 1,141 542 599
FEM_-TH 159 475 237 238
ﬁ%ﬂﬁ 244 594 282 312
/\* TH 695 1,601 776 825
/\* —TH 376 1,019 496 523
NEZ=TH 267 588 275 313
NEZET—TH 111 247 109 138
NEHZETZTH 197 453 210 243
NEHZKBEI=TH 137 339 168 171
£ KHT 101 277 138 139
tEEE—TH 705 1,638 764 874
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tEAmII—TH 4 14 8 6
t&—TH 644 1,428 705 723
+t%&_-TH 18 18 9 9
75/ R HT 318 699 317 382
&L EHET 140 312 146 166
—&BI—TH 117 248 105 143
—&B_TH 171 357 172 185
—&BI=TH 81 212 96 116
RER—TH 379 799 370 429
NEB_TH 163 445 210 235
NEB=TH 725 1,721 796 925
NERBIETH 247 526 250 276
NEBATH 325 823 403 420
RNERATH 219 604 286 318
—EXKE—TH 44 79 40 39
—ERXKE-ZTH 48 116 54 62
—ERXKE=TH 54 111 53 58
—ERXKEMTH 61 151 73 78
—ERXKEARTH 115 244 126 118
=&XKK—TH 349 684 352 332
=FXKKZ-TH 66 164 87 77
=FXKK=TH 115 266 140 126
=&KX TH 106 225 107 118
=EXKKATH 118 283 146 137
mMEXEK—TH 978 2,068 984 1,084
MEXK-TH 364 917 448 469
MEXRK=TH 381 1,007 478 529
MEXKRMTH 244 601 289 312
MEXKRATH 208 559 269 290
[ X] 8,230 20,295 9,694 10,601
R HEHT 1,593 4459 2,217 2,242
b Ly T 1,747 4,381 2,121 2,260
LLI &£ BT 1,304 3,014 1,428 1,586
A4 T 1,531 3,698 1,698 2,000
NiEE AT 437 883 409 474
WE=FIBT—TH 235 515 249 266
WE=FEI=TH 174 427 206 221
TN Fr ET 147 342 166 176
HER—TH 555 1,364 641 723
HER_TH 359 866 399 467
B b T 148 346 160 186
[(KR#X] 13,041 28,668 13,513 15,155
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PR3/ NS HT 232 396 184 212
75 K #THHET 237 471 228 243
Lt NG E L 224 586 278 308
AARESIZFHT 127 354 166 188
ARXFETE 208 442 211 231
75 K3 HT 51 97 43 54
= RET 1,530 3,564 1,706 1,858
5 FPHT 656 1411 681 730
=E8—TH 148 362 169 193
EEESE-TH 167 405 186 219
EE=5=TH 186 408 202 206
EERMNTH 115 294 144 150
JE H BT 174 492 239 253
= KT 137 339 171 168
A HB—TH 96 220 91 129
AHB_TH 201 474 233 241
AHB=TH 181 453 207 246
AHBMTH 63 158 82 76
AHBATH 245 599 286 313
FAAFEE—TH 362 811 361 450
FAAFERE_TH 15 32 12 20
FARFHET—TH 476 1,074 514 560
FARFHETZTH 162 346 158 188
PH R FFAHT 494 1,075 479 596
P8 K 3F K HT 71 128 54 74
P R F AT 263 456 198 258
ARFER—TH 906 1,740 783 957
ARFERBIZTH 323 685 307 378
BAFIE—TH 281 578 277 301
BAFIHZ=TH 115 291 146 145
BAAFIH=TH 161 246 123 123
AAFIHETH 172 354 158 196
BAFZH—TH 302 612 280 332
AAFZH=TH 270 564 274 290
ARFEHEHEI—TH 207 424 207 217
ARFHEEIZTH 136 276 129 147
AFEEIH—TH 163 359 180 179
BAAFEIHZ=TH 14 16 11 5
FARFHREB—TH 281 485 233 252
FARFAEBZTH 217 468 221 247
=X—TH 306 680 326 354
FE-TH 296 637 326 311
EX=TH 230 499 236 263
EXMETH 234 513 230 283




BT & At FEHEUOAO TRi26 1281 BB
i) £ HHF A A 5 S

ETEXHETH 24 45 25 20
EWR—TH 411 926 433 493
EM_-ZTH 319 756 344 412
EM=TH 280 622 286 336
EVETH 254 649 315 334
EMATH 318 796 380 416
[HosithihX]) 4,221 9,753 4,530 5,223
HOOHME—TH 440 928 405 523
HOOHME_TH 401 833 373 460
HOOHME=TH 386 856 412 444
HOOHMEETH 254 569 255 314
HOOMEATH 315 699 325 374
HPOHMENRTH 642 1,443 662 781
HPoHMEETH 381 1,026 493 533
HOHME/\TH 200 536 255 281
HOHimIt—TH 429 1,059 499 560
HHMIL=TH 259 608 271 337
HOHMIL=TH 514 1,196 580 616
[ZFEHX] 11,349 26,832 12,421 14,411
FEmE—TH 322 741 348 393
FEFE_-TH 398 963 426 537
FEE=TH 341 729 323 406
FEXFET—TH 392 923 426 497
FEXMET=TH 461 1,055 475 580
FEXMET=TH 351 861 401 460
FEXMETETH 313 735 315 420
FEXMETATH 344 828 403 425
FEXFET/RTH 1,099 3,028 1,468 1,560
FEI—TH 287 663 303 360
FEIE-TH 286 633 264 369
F[EFA B ET 868 1,810 828 982
FEEHTA—TH 401 950 457 493
FHEEHTEIZ=TH 486 1,249 597 652
EEEEL 502 804 331 473
foSEPHET 1,297 2,876 1,318 1,558
BEE—TH 490 1,213 575 638
BEE_-TH 160 399 180 219
BEE=TH 154 386 195 191
BEEMNTH 184 507 236 271
BEERTH 318 773 366 407
hIUETFE—TH 106 261 124 137
b UBAfE_=TH 320 871 416 455
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hILETFE=TH 458 1,057 488 569
b UBTFEIETH 362 890 408 482
EAHET—TH 292 782 362 420
FERT_TH 357 845 388 457
[ZEyRihX] 10,374 24,369 11,222 13,147
ZESE—TH 75 177 86 91
BEF+E_TH 98 243 95 148
B2E+E=TH 185 410 160 250
HZE,ENTH 170 395 188 207
B2E,+ERATH 297 746 330 416
BESHENRTH 215 495 217 278
mEXrbE 458 1,049 511 538
h&EXsE—TH 2,091 3,924 1,767 2,157
h&EX,sE-TH 206 487 227 260
h&EX,sE=TH 133 387 196 191
h&EX~,EMTH 782 2,171 1,030 1,141
h&E,HENRTH 632 1,669 775 894
AEESrE—TH 400 964 448 516
AEELYEZTH 636 1,362 634 728
AEESFE=TH 252 568 262 306
AEEsEMTH 357 848 380 468
mEELERTH 288 673 303 370
AEESLRENRTH 479 1,183 552 631
mEEryrE+tTH 218 521 248 273
mEEsRE/I\TH 416 982 441 541
BEEsyE—TH 178 436 206 230
REEXEsEZTH 267 628 286 342
REEXEsE=TH 29 69 32 37
REEyENTH 175 426 195 231
BREEyERTH 201 480 217 263
BEETEARTH 192 519 244 275
t&ErE—TH 118 296 134 162
t&EEyEZTH 109 287 143 144
t&EyE=TH 204 602 282 320
t&EyENTH 153 367 160 207
t&EEyERTH 166 420 195 225
t&EXSENRTH 194 585 278 307
EHX) 23,186 57,094 26,829 30,265
—4%—TH 49 104 45 59
—Z~-TH 421 1,174 566 608
—&=TH 297 812 390 422
—&ZmTH 199 503 231 272
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HF

T A a 5 =
—%ATH 32 72 32 40
—4RTH 7 20 8 12
—4tTH 1 2 1 1
—AFH—TH 38 120 58 62
—ZTH"TH 51 153 66 87
— AR 74 194 83 111
) 1 1 1 0
=¥®—TEH 420 1,154 537 617
=W="TH 404 1,075 558 517
==TH 184 441 201 240
=¥AlMTH 118 386 179 207
= HMERT 261 748 373 375
EHTTE—TH 955 2,208 1,035 1,173
EHTTEAI—TH 278 509 220 289
=TI =TH 106 206 92 114
EHTTETET B 280 660 297 363
=¥y E 288 692 311 381
=i)IIFE—TH 449 1,161 544 617
=B =TH 296 912 453 459
ch HT 088 2,678 1,297 1,381
wiEWLU—TH 577 1,491 700 791
=IZIL—TH 372 906 434 472
FIFEIL=TH 269 634 290 344
FLWL—TH 241 592 283 309
FIW=TH 277 713 335 378
EfRyE 301 687 316 371
KIZHT 284 325 139 186
=2Ha 389 898 421 477
B/ RKeE—TH 597 1,511 695 816
B/ AE=TH 332 812 379 433
B/ RKE=TH 357 885 409 476
B/ RKEWETH 110 272 136 136
= 7 HHET 374 1,057 497 560
FE SR ET 150 406 200 206
R FIET 93 210 112 08
A ARHT 162 484 227 257
X F0 H HT 130 327 156 171
FRyE—TH 356 873 407 466
FR5E_TH 346 771 338 433
FH5yE=TH 295 709 317 392
HiEE—TH 84 197 95 102
=E5"TH 76 169 75 94
FHEE=TH 103 213 101 112
ERE—TH 263 608 284 324

_11_




IHT%FJ'IJTE HEUVOAO TRi26 1281 BB
H &
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EREIZT E 335 809 351 458
ERBI=TH 446 1,075 517 558
ERBMNTH 1,207 2,102 992 1,110
AFRyE—TH 240 604 297 307
BAFKsEZTH 267 684 337 347
AFRsyE=TH 238 577 269 308
FEHZyE—TH 171 409 183 226
FEHyE=TH 188 491 233 258
FEHyE=TH 166 430 198 232
FEF—TH 60 141 64 77
FEH-TH 44 96 47 49
FEH=TH 268 649 292 357
FEFETH 244 521 228 293
FEFHRTH 444 1,300 645 655
FIFEIUBA—TH 192 657 333 324
FIFEILBE=-TH 4 9 6 3
HiEIUE—TH 142 344 157 187
FIFEILUE_=—TH 225 536 254 282
FIFIUE=TH 175 438 182 256
FIFIUEMTHE 192 467 215 252
FIFIUERTH 181 451 208 243
FIFWLMTH 169 417 189 228
FIFWATH 128 289 139 150
FIFIUNTH 404 851 383 468
EHd—TH 745 1,888 894 994
EHI—TH 423 1,014 471 543
EE.?E’EthT B 978 2,467 1,171 1,296
WEE—TH 162 344 136 208
A ’a‘m—TE 271 623 286 337
WEE=TH 196 446 206 240
MI&-’-‘.T = 197 542 262 280
=M—TH 252 618 283 335
=M_-TH 88 219 100 119
=M=TH 277 688 320 368
=HEmTH 31 60 31 29
=H#ARTH 339 1,103 545 558
=R TH 182 488 238 250
=mtTH 11 33 16 17
G AL 169 479 227 252
[ Ihh X ] 2,251 5,614 2,673 2,941
#I1—TH 630 1,200 575 625
M) —TH 206 491 216 275
#MIH=TH 293 778 369 409
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#MIHMT B 364 969 470 499
#MIHATH 329 866 402 464
#MIRTH 429 1,310 641 669
[ERE#X] 2438 5,190 2,334 2,856
£R=—TH 6 14 7 7
EE_TH 1,313 2427 1,058 1,369
£R7=TH 367 879 413 466
AHEIETH 240 560 256 304
ERAETH 512 1,310 600 710
[REHEK] 2,712 6,810 3,214 3,596
X¥—TH 380 1,027 502 525
X¥%_TH 215 498 226 272
LEZ=TBH 417 1,028 479 549
KREMTH 359 927 443 484
KXERTH 1,019 2,484 1,173 1,311
KENRTH 322 846 391 455
[ERE#hX] 2,255 5,961 2,856 3,105
EX=—TH 404 1,018 490 528
ER=TH 879 2,360 1,129 1,231
ER=TH 717 1,889 899 990
EFEMTH 249 678 331 347
ERZATH 1 1 1 0
EFRNTH 5 15 6 9
[ErihX] 5,114 10,597 5116 5,481
HALEHT 3,784 7,795 3,750 4,045
75 LS HT 134 355 163 192
AT 589 1,231 598 633
AAKE—TH 109 222 115 107
FAAEEIZTH 243 451 227 224
FBAEH=TH 251 538 259 279
FAEHETH 3 3 3 0
FEAEHATH 1 2 1 1
[BEEHIX]) 3,913 9,296 4,539 4,757
At 7k FET 609 1,591 774 817
dt 2 FEHT 269 657 322 335
FAJK FHT 767 1,794 861 933
£ S T 1,872 4,432 2,167 2,265
H = B HT 256 617 278 339
2z EmBE—TH 108 158 105 53
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dt2Z2ERBE=TH 32 47 32 15
[(EErm#hX] 3,251 6,873 3,279 3,594
=Nzl 2,132 4421 2,080 2,341
T S HET 3 3 2 1
J\EH] 62 178 81 97
$R4KHT 2 3 2 1
fiz 7 E BT 237 496 244 252
e [ T 253 659 335 324
EH-—TH 197 361 170 191
MH_TH 177 340 167 173
BH=TH 65 177 82 95
MAMTH 6 11 6 5
MHFERTH 98 175 86 89
WHATH 14 31 16 15
BHAETH 5 18 8 10
[FfEHhX] 1,462 3,415 1,638 1,777
FEZEHT 174 422 194 228
;th B AT 61 161 77 84
LI AT 275 761 378 383
S ThHr 537 1,160 578 582
5 EMT 47 95 43 52
HH ch BT 368 816 368 448
[(FBEHMX] 315 856 417 439
KAHT 49 129 60 69
o KA ET 48 141 73 68
E % S HT 12 37 19 18
A& E T 12 25 14 11
L ER/T 42 118 63 55
=R ILHET 17 54 26 28
= hE AT 118 306 143 163
e Z ek T 17 46 19 27
[AFE#HX] 773 1,857 892 965
& H BT 31 97 52 45
Z far BT 68 134 49 85
X HIRHET 101 282 135 147
RAH 33 86 41 45
AL/ )1 BT 118 155 91 64
A EH [ T 36 81 37 44
th 2 [T 31 94 49 45
th 2 HT 9 21 9 12
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i) #2|1 A A 5 S
REFHT 18 47 19 28
H W] 34 93 44 49
2 EhET 21 60 27 33
1Lk &5 T 18 39 18 21
F0 AT 30 98 47 51
ZE LI HT 21 57 26 31
£ ZHHET 30 74 37 37
HIE & 3 EHT 27 66 32 34
JK I ET 118 310 144 166
Al Fir BT 29 63 35 28
CIEFH=Y] 458 1177 559 618
ER:) 95 262 121 141
ESNE) 81 148 75 73
E6 4 [ T 48 137 65 72
= Jth AT 109 278 134 144
KARET 44 130 61 69
FHAE T 60 162 78 84
Jt B7 LI HT 21 60 25 35
[ KA #h X ] 409 1,025 461 564
R4 BT 154 392 176 216
B /& BT 119 287 128 159
R EHT 38 112 56 56
B LT 56 131 54 77
REALET 42 103 47 56
[EEE#IX] 334 800 399 401
&)’y 119 306 144 162
A FEHT 34 91 43 48
L AT HT 33 68 33 35
[= BT 2 4 2 2
5 /KET 24 61 34 27
A B HT 45 99 48 51
7% A HET 15 33 19 14
HIE)I| BT 18 44 23 21
th /I HT 44 94 53 41
G 195 465 227 238
£ )1 g BT 27 68 31 37
FE %K) 1| ET 29 66 33 33
s IEX:) 21 50 22 28
T3E)I BT 110 256 129 127
1 [ BT 8 25 12 13
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% HF

g} )k A 3 Z
(B4 iEhX] 499 1,530 740 790
A 3R 144 424 212 212
Ao #EL 122 365 162 203
Ar#EE5| 50 163 82 81
Ayr#ie 20 68 33 35
A~ 3R 43 130 61 69
A #EkEE 120 380 190 190
[#R4[h X ] 2,130 5,886 2,860 3,026
ERAREE 2 ERT 70 193 87 106
ZR 4B A [if] BT 18 67 27 40
0 SF HT 15 54 25 29
ER 4R = EH BT 229 485 207 278
RE AT 151 397 206 191
ERAR /N L HT 60 182 85 97
R AR 48 ;AT ET 33 108 50 58
ER AR 0 LI BT 158 503 235 268
MBS LHAE 219 617 316 301
e =Rt 356 976 485 491
E1HT 339 908 465 443
&1+ Bl FrET 112 274 143 131
INEHT 96 286 127 159
LRI 70 223 110 113
TR HT 51 166 79 87
¥ HT 83 269 126 143
040 15 HT 70 178 87 91
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